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SUCCESS SERIES -1 FIVE MARKS

Let A={z e W |2 <2}, B={zcN|l<z<4} and C = {3,5}. Verify that
(i) Ax(BUC)=(AxB)U(AxC() (i) Ax(BNC)=(AxB)N(AxC)
A={zeW|z<2}, B={reN|l<z<4} wpmp C={3,5} aefled, &ECs&

QHBM(bHBLILL (HETET FLOEDTLIM(h&Hemend FFILNT H6.

(i) Ax(BUC)=(AxB)U(Ax(C) (ii) Ax(BNC)=(AxB)N(AxC)

Consider the functions f(z), g(z), h(x) as given below. Show that
(fog)oh=fo(goh) in each case.

(i) f(z)=2-1, g(z)=3z+1 and h(z) =2’
eenpsslulL f(x), g(z), hz) sydweunennsd asmesork (fog)oh = fo(goh) eend

B (.
(i) flzy=2-1, g(z)=3z+1 wpmio h(z) ==z

2

Find the sum of all natural numbers between 300 and 600 which are
divisible by 7.
300-&@W 600-5@&L0 BemL GiLl T-346D 6UGLI(bLD SHem6tTH5)] EILIED eretoraerfler

T (bFHED HTEO0TS.

If A— 2:1:—&—1, B_ 2¢ —1 find 1 B qu :
2z —1 2 +1 A-B A —-B
A= 2z+1 womio B = =k 1 erenfled, ! = lZB — HITEGUTS.
20 —1 20+ 1 A—B A*_pB?

If 92 +122° + 282° + az + b is a perfect square, find the values of a and b.

O2' +122° + 2827 +ar +b opyIH QO WPREUTHSHD eelled, a, b

SyFHWeUDIN6T LI ILSHEWENS SHTETUTS.

A bus covers a distance of 90 km at a uniform speed. Had the speed been 15 km/hour
more it would have taken 30 minutes less for the journey. Find the original speed of
the bus.

& Cumhg 90815 asmemaeneus &rnen Coaussdled sL&HANG. e Ceusd 15 &b/
wevofll aidlafdsiulLmed, uwewor GrIwo 30 B ssT Geondngl ereufled, GUbhHSleor

Coumpdemsdd HevuTHF(ho.
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—1
1 2
IfA=(1 -1 2),B=2 1 andc:[2 1]
3
show that(AB)C = A(BC).
1 —1
12
A=(1 —1 2), B=|2 1 | wHmub 0[2 J
1 3 )

eteofled (A DB)C' = A(BC) eteord ssMli(b&.

Show that in a triangle, the medians are concurrent.

@ (WHComnetorsHdledt HbHBHMb&HeT 6ub LeTerfl

QULSIF E1EFELEYILD 6TE0TSH HITL (b&.

Find the area of the quadrilateral whose vertices are at
(i) (-9,-2), (-8, -4), (2,2) and (1, -3) (ii) (-9, 0), (-8, 6), (-1, -2) and (-6, -3)

QBM(L&SUILLL LeTeflBemer (LPemetTHETTSHE C1SMe0uTL. HTH&ST HH60T LTLIemLIS SHITE00TS.
(i) (-9, -2),(-8,-4), (2,2) wompd (1, -3) (ii)(-9,0), (-8, 6), (-1, -2) wHmID (-6, —3)

If the points A(2,2), B(-2, —3), C(1, —3) and D(z, y) form a parallelogram then find
the value of z and y.
A(2,2), B(-2,-3), C(1, -3) wpmib D(2, y) ayélw LeTefls6r enemisrHens HenLodb@GLD

er6ufled,  PMID y—ulledr FHlLiewLS SMTEToTs..

From the top of a tower 50 m high, the angles of depression of the top and
bottom of a tree are observed to be 30° and 45° respectively. Find the height of the tree.
50 15 o wiperer e Camyrsler 2 sAulsdlBhs QW wrsder 2 &4
OHNID Sig SpBweudniett BnéesGanemigser (WwennpGw 30Y wHmid 45) ereufled, I &Hler
2 WISHEmSHEH HN6CUTS. (\/5 =1.732)

An industrial metallic bucket is in the shape of the frustum of a right
circular cone whose top and bottom diameters are 10 m and 4 m and whose height is 4 m.
Find the curved and total surface area of the bucket.
&up ermlbhsmemeouilsor 2 Beonme eumerfl, &niDLleoT
BlemL_SsetoTL. augelled 2 aTemgsl. SiHedt CoUD, Siqlim el L reiser
wemmGuW1 10 15 whHhmib 4 15 SH&Sb. SiHedT 2 wmb 4 1S erenfled,
BewL_S5660TL $Hl60T euememUITLUIL] LOHMID QUM SHSL LDUILTIEmLSH SHITeG0TSH.

Find the mean and variance of the first n natural numbers.
(WwHsL N Bwed eTevuraafledr amslf] LHMID eN0ss uTHas FInFflsenans

SHITE00TS.

M.A.SENTHIL KUMARAN VMGHSS-PKM_THENI DT

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.youtube.com/@Padasalai-net

www.Padasalai.Net www.TrbTnpsc.com

M.A.SENTHIL KUMARAN THENI

Two dice are rolled. Find the probability that the sum of outcomes is
(i) equal to 4 (ii) greater than 10 (iii) less than 13
| @retorh USemLSET 2 (HLLULUGSSTmerT. HlemL&SSUOUMID (P
WSl Serfledt nbsed (i) 4 -H&& gwwns (ii) 10 -gm efle i euflasres  (iii) 13 -m eflldé @emmeuns
BoplusDsment Hl&IpSSH6)Y SHTesoTs.

Nathan, an engineering student was asked to make a model shaped like a cylinder
with two cones attached at its two ends. The diameter of the model is 3 cm and its
length is 12 cm. If each cone has a height of 2 cm, find the volume of the model that
Nathan made.

HISH60T 6redTD GEUTMluiuied wrevoteuT @ 2 [Hewemuiledr EBUDIPID FnlDLHET 2 _6TeTeumm)
wrdlifl Qetenn 2 meunéddler. wrdHifluler Hembd 12 e1&.5 wHMID ALLD 3 185 SpESLD.
aeueleun(H snbilledr 2 wipu 2 &b @HESGLNeTTed HTSer 2 [Heunsai wrdlifluller
SHETSIETENEUS HNEO0TSH

The ratio of 6" and 8" term of an A.P. is 7:9. Find the ratio of 9" term to 13" term.

QM &l bs s Taflensuiler 6-eug wLHMID S-eug 2 miseflsor eflésn 7:9 erefled.
9-eug HMID 13-6ugx 2_misefler elfls0 sneoors.

Let A={1,2,3,4} and B=1{2,5811,14} be two sets. Let f: A— B be a
function given by f(z) = 3z —1. Represent this function
(i) by arrow diagram (ii) in a table form
(iii) as a set of ordered pairs (iv) in a graphical form
A=1{1,2,3,4} wpmb B ={2,5,8,11,14} eretTuerr &b HEOUHISHET 6TE0TE.
f:A— B ergnib &1y f(z) = 3z — 1 ere0ré QBMbSSBLILL(beTeng). E&snTLilenend Q\SHTesorh
(i) ewys@d uLb (ii) &’ euemevor

(iii) euflewes CamgserfledT Hevorld (iv) euemwruLLD Spdleuhemnnsd GniHs
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Let A={reN|l<z<4}, B={zcW|0<z<2} and C ={zr N |z<3}.
Then verify that

(i) AX(BUC)=(AXB)U(AXC(C) (ii)) AX(BNC)=(AXB)N(AXC(C)

A={zeN|l<z<4}, B={r e W|0 < 2z <2} wpmyb
C={reN|z<3}. eemm®d (1) AX(BUC)=(AXB)U(AXC(C)

(11) AX(BNC)=(AXB)N(A X () erettustreunemmé &M &a.

Let f:A— B be a function defined by f(z)= %f 1, where A={2,4,6,10,12},
B =1{0,1,2,4,5,9}. Represent f by

(i) set of ordered pairs (ii) a table (iii) an arrow diagram (iv) a graph

f:A— DB eedin &SMTUTEOTS flz) = i —1, eteoT auemIWMGSILGEDS. G,

A={24.6,10,12}, B =1{0,1,2,4,5,9} aps 8mpé&a0Cung smiy f-& LedTeu(mb (penmserfled
GH&s

(i) exuflemes Gamqmsefledr mevord (ii) @ Leuemevor  (iii) @uwbys@nl uLw  (iv) euemTULLD

If f(z) =2z + 3,9(z) = 1 — 2z and h(z) = 3z.Prove that fo(go h) = (fo g)oh

fla) =22+ 3, g(z) = 1 — 22 wopmuo h(z) = 3z erevfle,
felgeh)=(foyg)eoh eer Bmeys.

The sum of three consecutive terms that are in A.P. is 27 and their product is 288
Find the three terms.

QW Fnl(bd aFmTauflensulle SemOHS SHbSSLSS CPEOTN 2_MILSH6Te Fn(bHed 27
LOPHMID SHEUDHTETT ALHSHSHLEET 288 6raufled. b CLPEITM)| 2_MILIL|&HEDETS SHTE00TE.

Find the sum of the Geometric series 3 +6 +12 +---+1536.

3+6+12+---+1536 eredtm QL(HSHGHP OSTLIfl0T For(hHED HMEOUTS.

T = w LOMID y = w er6ufled, 22y 2 —60T o FIemUsH HTET0TS.
3a” — 3 2a° —2a — 4
If z = w and y = a“ﬁ_ 29— 8 find the value of Ty~
3a” — 3 2a” —2a — 4
M.A.SENTHIL KUMARAN
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Find the square root of 6T 5 & CLPEDLD SHITEOUT .
(4z® — 9z + 2) (T2® —13x —2) (282" — 3z —1)

2 —1
1 1
If A= o 1 1] and B=|—-1 4 | show that (AB)" = B"A"
0 2
2 —1
1 2 1 . ) . - ] )
A= 5 | 1| 'eomro B=|—1 4 | eteofleo (AB) = B A" erediUemSHEF
0 2

Basic Proportionality Theorem (BPT) or Thales theorem
aiuqlivuemL ael&s&Fso GHOHMID b0z BHebeiv BHMHMID

Find the value of £ if the area of a quadrilateral is 28 sq.units, whose vertices are
taken in the order (-4, -2), (-3, k), (3, -2) and (2, 3)

(-4, -2), (-3, k), (3, -2) wpmid (2, 3) W (PewerHemer eufledFUINS OSHTECOTL
HTH&T ST LTI 28 & SH0&S6T e160fl6d, k—uledr &S Hmeoors.

Show that the given points form a right angled triangle and check whether they
satisfies pythagoras theorem

(i) A(1,—4), B(2,—3) and C(4,—7) (i1) L(0,5), M(9,12) and N(3,14)
&M (b&HSBLILLL LeTerflser a15mEaneoor (p&HEanetorsHems SHemDSHELD 6T60Tdh HITL (bdk. GLoab
Hsnsren CHnnsHens Hlewme) OSWILDT 6T60T S4TMILIS.

(i) A(l—4), B2.—3) wpmwp C(4,—7) (i) L(0,5), M(9.12) wpmud N(3,14)

P?—1
If cosecH+cot 6=P, then prove that cos§ = ——
P +1
cosec B+cot =P erevfled, cosl = E

. eTedTUemS [Hl LIS &Se|LD.
P +1

Two ships are sailing in the sea on either sides of a lighthouse. The
angle of elevation of the top of the lighthouse as observed from the ships are 30° and

45° respectively. If the lighthouse is 200 m high, find the distance between the two
ships. (\/5 =1.732)

8 slue&eT seomsen efleTssSHleir Ep LsSsaTlaD sHLabled Lwesod
eFLdleitmert. B sLuSaTleNbhE SeomsenT elleTassdler o FFulledr anmeEHTerThGeT
wempCuw 30° HmIb 15° SH@&LD. HeorasemnT efleréasSler 2 wimb 200 15 ereufled, S SLILOHSEHES
BemL G 2_dTeT FHTemEDEmENSH HITEO0TS. (\/; =1.732)
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The frustum shaped outer portion of the table lamp has to be
painted including the top part. Find the total cost of painting
the lamp if the cost of painting 1 sq.cm is ¥ 2.

&® Cemgg eXlend et eueflilDSIIDE& (CoedLIGSIU|L60T) oL (bLD
euTevord L ILGBGSADE. 1 & 5.5 eufevoib 1L& T2 6156D6UT & 6ID6evfled
6Xlerm& &M & 6LUIT 6UUTLD 1L, 561D SHITE0T GIDMT HSHEF 6185 606 61SH & 6U0TSH SH(bS.

The volume of a solid hemisphere is 29106 cm®. Another hemisphere whose
volume is two-third of the above is carved out. Find the radius of the new hemisphere.
QO Slemn smrsEGataisdlar saroete 29106 &. &5 cpsmisd

@retorh LMk st Semesten LNCmnT siemrsCanend @&edlBhHa 6185 SLILbLOTETTD LSl
S1emI&BHTETSH 0T SHTID eredrenT?

1 \ s

The marks scored by the students in a slip test are given below. Find the
standard deviation of their marks.

B - 6 8 10 12
N 3 5 9 5

auGLUS @g,frsﬁlsi) LOMEDOTEUT &6 QUDHM W HlLIeLetorseT SELp
Q& M(b&SEBLILIL (heTement. Sieul Herfleor odllIeLstoretol D& S S L 6fle0HHD HMetors.

T 4 6 8 10 12

[ o |
7 3 5 9 5

In an apartment, in selecting a house from door numbers 1 to 100 randomly,
find the probability of getting the door number of the house to be an even number or a
perfect square number or a perfect cube number

@ GuUiGUlled 1 W 100 CUewT 2 6Tem &HH6Y 66Ul  EIHMeTTL
slibsafledlhg swoeumiii (wenpuied seTemns CHIHeSbeHGD CLTEH Sihs 65l 1q.60T H56)Y eTevor,
QT SrienL 6Te00T HEDEDGHI (LP(PEUTEHS 6T600T HIEDEDF (LP(LY HEDT ETeCOTETuTS SlemL LILHDEHTET
H&L0&S6) SHITeTurs.
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Let A ={1,2,3,7} and B = {3,0,-1,7}, which of the following are relation from A to B?
(i) R, ={(2,1), (7.1)} (ii) R,= {(-L1)}
(111) R3 = {(2:_1)> (7,7)s (133)} (iV) R4: {(7,—1), (0>3)1 (3a3)> (0>7)}

A=1{1,2,3,7} opmib B=1{3,0,-1,7} erevfléd, Netreuqpeueoreumnnied eremex A-edlph g1 B-&ameor
®_MeYSETTGD?

(1) R, = {(2,1), (7,1)} (i) R,= {(-L,1)}
(iii) Ry = {(2,-1), (7,7), (1,3)} (iv) R,= {(7,-1), (0,3), (3,3), (0,7)}

f N — Neememunerg f(z) = 3z + 2, © € N eTeor euemmuuméesLIuLLmed

(i) 1,2, 3 -wehr [fliped 2 ([HEHHemeTS HMeToTSH
(ii) 29 wPmID 53-ulledr (WP6iT ©_(HES&Hemans HTewords. (iii) SMILIET EUEDBEDILIS HTETUTS.

Let f be a function f : N — N be defined by f(z)=3z+2 2 € N
(i) Find the imagesof 1, 2, 3 (ii) Find the pre-images of 29, 53
(ii) Identify the type of function

A function f:[-5,9] — R is defined as follows:

6r+1, —-5H<ax<?2
flr)y=152> -1, 2<z<6
3 4; 6<<9
: . ) . R N . 2f(=2)— f(6)
Find (i) f(-3) + £(2) (i) f(7) = A1) (D) 2/() + f(8) (V) —————=
f(4) + f(=2)
f:[-5,9] — R erettp enuneorg) LeiTeubLOMM)] 6u6nIILNSSILGSDS)
.6:z:+1; —5<r<?2
flz)=152" =1 ; 2<z<6 ere0r eueMIUMISSILGLADE erevfled, LleiTeurmeuetTeuhenns
3z -4 ; 6<x<9

snas. (i) f(-3) +2) (i) £7) A1) (i) 2(4) + f(8) (iv) m

Find the HCF of 396, 504, 636.
396, 504, 636 @yElweunniedT L5.61LIT.6u SHMesuTs.

A mother divides T207 into three parts such that the amount are in A.P.
and gives it to her three children. The product of the two least amounts that the children

had ¥4623. Find the amount received by each child.
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6 S GevteoflLd & _eter 207 & Fnl (b QHTLT euflemsuiled Siemiouid
et U iusenn sl Uifl5g5 Hev1gi et GLHeRSHEHHESLD &M (bdH® ellpLlernT. Sieumiled
B Aflw egnemsseflar OUESSDHLOET I4623 SHGWD. QEUEEUTTH GLHEDSUWID ELMID
OBHTemHUNEWETH HTELUTS.

8 4
In a Geometric progression, the 4 term is — and the 7™ term is b—
. . . 9 243
Find the Geometric Progression.

8 LMSHSS eenLieuflensulledr 4—eug 2 _miy % LOMID 7T-6ug 2 ML

26—113 aTeufleh . @IRaL OLMHEGS OSTLTaUflengFsmiLs SHTetuTs.
If A== —, B = L , prove that A+ B) +(A=B) _ A« + 1_,)
r+1 r+1 A+ DB x(x + 1)
A= ; woOmd B = L, eT60fled, (A+B) +(A-B) _ A 1_3 ereoT [HlepLlea
r+1 r+1 A+ B z(x + 1)

Find the square root of 64" —162° + 172° — 2z +1

642" —162° +172° — 2z + 1 eTedTU&)EIT EUTEHSELPEOLD HTETITS.

g ,x-1l_ 51 Solve x1+$—l:2l

r—1 T 2 T

Si&Hs

If A=

3 )
A 2] ereofled, A* — 5A + 71, 0 ereot HlMeyss.

3 1
. 2] show that A* — 54471 =0 , _

Pythagoras Theorem Ugnsmev GsmnHmLD

Show that the angle bisectors of a triangle are concurrent.

Q (WwsGaneusdlear Coneror Bmap QUL &HeT 65 LaTarfluleor auflimss
CIFEDRVID 6TEUTE SHITL (b.
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2 3 4 5 X|

“
0
<

OBMbSHILLL  LILLDTE0TEH 66 eeM&ESHSHIed Ll

EUTHE0T FIMISSHD SDLIbSHS SMDSHLILLL. LGSlemis ST (g Sens

SIMOLILSNG B FEHIT 195G X 1300 aFe0eun@&LD ereor SN LILADE

eTeufled, eun&HedT FMISHD GEDLGSHHEUSDES CHeMEULITEDT 6LOTSHSHF
CIFE0EMELS HEUTSHSIL 6YLD.

The given diagram shows a plan for constructing a

new parking lot at a campus. It is estimated that such construction

would cost 1300 per square feet. What will be the total cost for

making the parking lot?

A mobile phone is put to use when the battery power is 100%. The percent
of battery power ‘¢’ (in decimal) remaining after using the mobile phone for z hours is
assumed as y = —0.25z +1

(i) Find the number of hours elapsed if the battery power is 40%.

(ii) How much time does it take so that the battery has no power? o
i sneCudl ersansdler soh 100% @méenGuns
(battery power) siemeoGudlemiLll LILEITUGLSSS OSTLMRIGSHEmMD. x wevofl Cmmid
uweTupSHW IS 15H BHéEL Warasdlen 668 | s56isD (551055 6D) She0T)
y=—0.25z +1 ssb.
(i) argpemen weoofll Crrsdnel Ung Vasasdar sad 407 sé
GemnhE (HHELD 6TE0TH HTEOUTSH. l

60%

(ii) ledrmeold HeoTg (P(R5F FhSleml BIpHs T(bSHTHHEBTETERID HTED SHeT6Y
GTEUGETEY?

3tané — tan® @
1—3tan’ @

Jtanf —tan® g
1— 3tan” 6

If \/5511'19 —cosf = 0, then show that tan 36 =

\H sinf — cos@ = () erevfled, tan 30 = TE0TS [FIMI6Y .

To a man standing outside his house, the angles of elevation of the top and bottom
of a window are 60° and 45° respectively. If the height of the man is 180 ¢cm and if he
is 5 m away from the wall, what is the height of the window? (\fi =1.732)
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&QUBHEUT SieuHemL L 6f 19N eeuefluied [fledTmasmesor® 6(H BeiTeTedlsdr 2 &4l oHMID Silg
gy@weunenm (ewmGui 60° pmib 45° Sl anmEEsNevuMRISET6 SretordmN. Sieurfleor
2 _wmb 180 a&.15. Gueub 6fi 1 elBhal 5 15 asmeneeileh Sieul 2 _aranm ereofled, eeoTeoredledr
2 WTSHEWSHS HT6TUTSH (\/3: =1.732).

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm
and 7 cm, find the volume of the frustum.
45 1§15 2 _win(peer @ BewL B0 HH60T Eb LD SHImiSET (WwemwnGL
28 61516 PMID 7 61815 e16vfleh, BeWLS&H600TL SHP 60T HEVT DiGTEWEUSH SHITETUTS..

A capsule is in the shape of a cylinder with two hemisphere stuck to
each of its ends. If the length of the entire capsule is 12 mm and the diameter of the
capsule is 3 mm, how much medicine it can hold?

Q@ WmHa U, @F 2 meweruilear SmUnp Sewrs Gamerd Seneumhs el eiled
o _eeng). GLILUIeT Qonss Hemd 12 16115 whmub efl L b 3 16115 eTeufleb, 21fl6b SiemL&aLILIGBID
LOBIHSI 60T HEUTSIGTEMEUSH HTETUTSH?

Find the coefficient of variation of 24, 26, 33, 37, 29, 31.
24, 26. 33, 37, 29, 31 spdlweupmiledt LOMMILML (b& C1&H(LQ6WEUS SHITEO0TE.

Two dice are rolled together. Find the probability of getting a doublet or

sum of faces as 4.
Bretoih USEHLSET 2 (BLLLULGbSeTDerr. &retorth (P& WSS EHLD
FWMeH B[HeHsH S16060E (P& WIS snbHed 4 ShdH SHUUSDSHTET HlHDHHENEUS HIT6tuTs:?
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Let A = The set of all natural numbers less than 8, B = The set of all prime numbers

less than 8, C'= The set of even prime number. Verify that
(1) (ANB)xC = (AxC)N(BxC) (ii) Ax(B—C)=(AxB)—(AxC)
A eredtug) 8-z 68L& Gemmeuneor @uwieb eretoraefledr seoorid, B erediug) S -gm 68l @&emmeuneor

USIT 6T600T&6Il60T &evotid ommId C' eTedTLIFH ST emL LLIewL. LIST sTe00T&Harfledr &evurid erenfled,
Slp&6toauhemm& LN &s.

() (ANB)xC =(AxC)N(BxC) (i) Ax(B—C)=(AxB)—(AxC(C)
72:3: + 7 T < —2
If the function f: R — R is defined by f(z)={2* -2, —2<z<3,
then find the values of 3z —2; r=3
(i) 74 () f(-2) (i) () +2£(1) (i) %

26+ 7; T < —2
gy f:R =R ayeorgy f(o) = 12" -2 ; —2 <z <3
6TE0T EUEMITWIMISEHLILILLITED, 3z—2; z>3
O s G A ) s G IO

SpSweunmlest LFIIL|SHemeTs SHITeo0Td.

Consider the functions f(z), g(z), h(z) as given below. Show that
(fog)oh=fo(goh) in each case.

f(z)=z—4, g(x) =2* and h(z) =3z -5

eanwdsiulL f(z), g(z), h(z) sydweuhennsd Osnetort (fog)oh = fo(goh) erers
ST (bb.

fz)=2—4, g(z) =2 womw h(z)=3z—5

Find the HCF of 252525 and 363636.
252525 wpmib 363636 eredtn eredorserfledr LS.EILIT.6) SHT6T0TS.
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The houses of a street are numbered from 1 to 49. Senthil’s house is
numbered such that the sum of numbers of the houses prior to Senthil’s house is equal to

the sum of numbers of the houses following Senthil’s house. Find Senthil’'s house number?

em esmelaear eibaEnse 1 wse 19 e asTLIFALTSS
saeflossd eupmslu bererg. shdledler  efilune (patarsns 2 dmem  elbsefls
saellesansalan smlhd Agnenswnarg ashdleller eilunel Werarsne 2 erer elbaerfler
&56eN60 &S M SHafl6l fnl (hHEBHTemHHGF FIDID 6reufl6d 616HH060T 65 (hd HHEN0EHHHMHH HTEG0T 5.

The present value of a machine is 40,000 and its value depreciates each
year by 10%. Find the estimated value of the machine in the 6! year.

e BwhHrsHler sHEuTemsIL iy 40.000 wHmIb EeuaeunH suIEHL(LPLD
aig607 FIIY 10% Gempdnal. 6-eug eumLSHled @uihSHosHHleor GHmImu wHllienLs SHeiurs.

Find the square root of ' 372° — 282° + 42" + 422 + 9

GUTHSHCLPEDLD HITELITS.

Solve z* +2x — 2 = 0 by formula method

FHHT (Wemmulled z° + 22 — 2 = 0 -85 STHSBEYLD.

— | ;—; i ] ;2 D\ 3 2 ( - ) y, .
;-; ’ 2 -y -3 2 ’ ( . ) -

Angle Bisector Theorem G&mevor @m&weeul g GHHMOLD |

If the vertices of a AABC are A(6,2), B(—5,—1) and C(1,9)

(i) find the equation of median (ii) find the equation of altitude
A(6,2), B(—5—1) wvpmw C(L9) -8 wenarsemsss eameoor, AABC —uler (peweor
A-u9edlphH& euemTIfLGbD (i) HbsEHML 16T FTUT  ewL & &Metord (i) H5HHS CHmLiqeor
FLOGOTLIML 60L& HTeG0TE.

If the points P(—1,—4), Q(b,c) and R(5,—1) are collinear and if 2b + ¢ = 4,
then find the values of b and c.

P(—1,—4), Q(b,c) wpmd R(5,— 1) eredrueor G CrisCamiqe siemiowb
Leerflser eTeores. Goguid 20 + ¢ = 4 erenfled, b oMHMID ¢ —ulledT S| HITECOTS.
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cos 6 1 a® — 1 .
If ———— = —, then prove that ——— = sin#@
1+ siné a a + 1
‘ 0%_9 S ereofleD, a:i—l — sin 0 eredTUemS [HlebUlSSHeULD.
1+ sin & a a” + 1

From the top of a lighthouse, the angle of depression of two ships on the opposite
sides of it are observed to be 30° and 60°. If the height of the lighthouse is » meters
and the line joining the ships passes through the foot of the lighthouse, show that the
distance between the ships is Ti m.
QM sonsen efensssdlear 2 s8uldimha eHardli ussmseald 2 _erer Eeorth
suueser  30° wpmib 60° BnessCaneTsSled UNTHSLLGLSETDET.  HE0MhISEDT
efetéassdHler 2 wpb h 5. @ sLUOSET WHNID SoMm&SenT laTsssH5l6r SiqliLGS
Sdwemey BT CrIGamige) Siem&leTment erenfle, ETetorth HLILLSEHHS SBewL UL L

E\BHTEMEDEY AR 15 erevt HlepLilss.

J3

A funnel consists of a frustum of a cone attached to a cylindrical portion
12 cm long attached at the bottom. If the total height be 20 cm, diameter of the cylindrical
portion be 12 cm and the diameter of the top of the funnel be 24 ¢cm. Find the outer
surface area of the funnel.

Qi 2 memenuler 158 QI EewLS55650TLID E6WeTTHHEUTM)] HeWDHS 6D
yeuredledr (funnel) ewonss 2 wimb 20 a1&.1b. 2 pemenuiledr 2 wimb 12 a5 whmib e b 12 as.L5
ay&W. BewLssetorLsdleir Gubun el 24 g5 erenfled, yeotedledr eeuemliynll LTlienUS
FHEVUTSHHI(H .

A right circular cylindrical container of base radius 6 cm and height 15 cm
is full of ice cream. The ice cream is to be filled in cones of height 9 cm and base radius 3
c¢m, having a hemispherical cap. Find the number of cones needed to empty the container.

6 @515 gymb wHMID 15 6F15 2 WHD ST I 2 (HemeT g6l
uTSHID (Wpeugons Ueaflesn(p (Ice—cream) 2 _eTengl. SibsSL L6Ul&H8m OMENTSI, &niDL| LOHMID
2iem1&HBanend Semevuihs eugeusHled HIiLILGADE. snbliledr 2 wrb 9 5.5 wHMID S4HTD
3 a&.16 ereofled, UMSHTSHED 26t LeoTldanemlp HITLIL 615HEMETSH dnlblsHem CHemeu?
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48 students were asked to write the total number of hours per week they
spent on watching television. With this information find the standard deviation of hours
spent for watching television.

6 7 8 9 10 11 12
3 6 9 13 8 5 4

QG EUIIILL sunm&&led 48 newTeu] ST OHTENESHSML S UTTULSDSTHE
gl Groo CoslLplwiulLgl ShsH sH@eusdler SigliuemLuile, £@$5H@|L.D Hiredleor
Sl Lelev&saID Hetors.

6 7 8 9 10 11 12
3 6 9 13 8 5 4

A coin is tossed thrice. Find the probability of getting exactly two heads or atleast
one tail or two consecutive heads.

Q@b [BMETOTLID CPEDTM) (LPemD &evorL LLGb&ADG. sfluneg SIeoih SHemensmeT Sihedg)
SEOMHSLLEFD QU L} DDDGH Sbs5S5bHEH ETeionh SHemeseT HlemL LILSHNHSTeT
HlBLDSH6meUsH SHITE00TS.

flx) =3z +1, glz) = 2 + 3 sydwemey @b sniyser. Goaub
gif(x) = fgg(x) ereufled 2 —gpés enetuTe.

Find zif gff(z) = fgg(x), given f(z)=3x+1 and g(z) =z + 3.
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A={1,2,3}, B=1{2,3,5}, O'=1{3,4} wpmup D = {1,3,5} ereofled

(ANCYx (BN D)= (AxB)N(C x D) etedtug 2_esoremlowin 61601 GFmSlHaHeyLD..
Given A={1,2,3}, B=1{2,3,5}, C=1{3,4} and D = {1,3,5}, check if
(ANC)x(BND)=(AxB)N(C x D) is true?

Represent each of the given relations by (a) an arrow diagram, (b) a graph and (c) a set
in roster form, wherever possible.

(i) {(my)|z =2y, v €{2,3,4,5}, y €{1,2,3,4}}

(ii) {(zy)|y = 243, &, y are natural numbers < 10}
QBMbSHBLLLL 2_DE)&HET 661616)TE0TEmDU|LD
(1) swys@m uLb  (2) euemguLd  (3) Uliguied (Wwemmuled Gml&s.
(i) {(my)|z =2y, = € {2,3,4,5}, y € {1,2,3,4}}

(ii) {(my)|y = 2+3, 2, y Hwenen Quied eredoraeT < 10}

T+ 2; r>1
If the function fis defined by f(z) = {2; —1<z <1 find the values of

z—1; —3<r<—1
(1) £3) (ii) f(0) (iii) f(—1-5) (iv) f(2) + f(=2)

D2 2> 1
fereorp engunenTgl f(r) = S 1< <] eTeuT eUEDTWMISSLILILLTED
=g Lm L=l

(1) f(3) (ii) f(0) (iii) f(—1-5) (iv) f(2) + f(—2) epdweunmedr HLILHemeTd HTetoTs.

If p* x p;* x p* x p;* = 113400 where p,p,, p,, p, are primes in ascending order and

x,,,,z, x, are integers, find the value of p,p,, p,,p, and =, =z, z,,z,.

ptx p X opt X plt = 113400 @@, p,p,.p,,p, ereTuet gm) euflensuled SiemLohH LS
6T600T&HE LODHMILD T, Ty, Ty, T, 6TE0TLIEDT (LP(LP&HS&H6IT 6T6ufleD. Pyy Py Py P, LOHMID T Ty, Ty, T,
SHSWeuDNIe0T LSIIL|SHEW6TS HTETUTS.

In a winter season let us take the temperature of Ooty from Monday to Friday to be
in A.P. The sum of temperatures from Monday to Wednesday is 0° C and the sum of
the temperatures from Wednesday to Friday is 18° C. Find the temperature on each
of the five days.
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Q@ GEfTHTOSHIID HlMHETHLPENID (PFHEL Q6U6TETHHILEMLD euemT 2eoriiqufledT AeuLILElemed
Fnl (b GFMLIeUflenFUTed 2 6memeor. FlhisHeT HPemD (PHD LSHETEDEDD UeHT 2 _6iTeT
eeuLiLfbleneoaearletr Gn(bged 0°C HMID LHTHLemID (WD el6ueTaflobEIpemny euenT 2 6Ter
eeulLflemevserfletr sn(bged 18°C erenfled. mmba HreTsHerleor EleulILHleme&HemeTs SHMeoorTs.

Find the sum to n terms of the series 5+ 55 + 555 + ..

5+ 55 + 555 + -+ erevTD EBTLTEUflewEUlNetT (LPHEL 1 &_MILIL|SH6TTl60T For (bSHED

Find the sum of g, (56> @metors.

15% 1162 £ 17% + ... 1987

Find the values of a and b if the following polynomials are perfect squares

S&eTEID LOINIILSCoTemeuseT (P UTSSMIGET ereufled a WHmID b—ufedr Sy
SHTEH0TS.

(i) 42" — 122 + 372> + bz + a (ii) az" + b2’ + 3612” + 2202 + 100

(¢* —ab)r® —2(a® — be)x +b° — ac = () eTedID SFLOEBTUMIGED ELPEDIAIGET FLOLD LHMID CLOL
ereofled, a—=0 sieveogl a’ + b° + ¢ = 3abe ereor Hlemid.

If the roots of the equation (¢* —ab)r” —2(a” — be)r +b* —ac = 0 are real and equal
prove that either a=0 (or) o + b + ¢* = 3abe

If & and B are the roots of 2* + 7z + 10 = 0 find the values of

ThEHEEET (b 344 2 +Tz+10=0 eTenib FOOTUT QT CPORSET a wHMID 3 ereofled
WeoTeuneueoTeuDI6T oS SHEmETSH SHM6T0TSH.

o 2
@) (a—B) (i) o>+ @ (iil) o — 5 (iv) o* +4 (V) %+i (vi) %H

8

4 0 2 0
> B = > C =
1 5 1 2

Show that (i) A(BC)= (AB)C
(ii) (A— B)C = AC — BC  (iii) (A— B)" = A" — B”
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P and @ are the mid-points of the sides C'A and CB respectively of a
AABC , right angled at C. Prove that 4(AQ° + BP*) = 5AB”.

AABC —uledo O sperm QsmBamevund @b, ussmser CA wHMID
CB-wlett ppLyeTeflse wempGuw P opmid Q erefled 4(AQ* + BP*) = 5AB’ erer Himieys.

Let A(3,—4), B(9,—4), C(5,—7) and D(7,— 7). Show that ABCD is a trapezium.

A(3,—4), B(9,—4), C(5,—7) wpmid D(7,— 7) eydwiyerefleder ABCDeredp sifleussens
SIEMDSHGID GT60TSH ST (h5.

The graph relates temperatures y (in Fahrenheit degree) to temperatures x
(in Celsius degree) (a) Find the slope and y intercept (b) Write an equation of the line

(c) What is the mean temperature of the earth in Fahrenheit degree if its mean temperature
is 25° Celsius?

euemILILLoMeoTg y SHEFD Lnrettanl 1q&lfl Qsuiuflemeoemiuyd = Si&dled
e1FebdILIeN g Sifl QeuliLflemneoemiLLD GHGSEMD S eTevfled, (a) Gam1q.60T &Me) LOHMID YOG (bSHEI6T0T(H
snetors.  (b) Gamligedr sedTUM 6mL 6(R&IS. (C) Lflufledr samar] Qeuliublemed 25° aFedlienms
Bm&H@éung) yoluller sunsif] aeuliLBleneoenirs LTTeTaL 196D STETTEYLD.

(—3,8) eredmp eiter] EuLH E1FELEUSILD, Sl Si5E: 6 I60T LW E16UL (b EIeT0T(baerledT
S (b&H6D 7 2_emL WGILOTe0T CETHESHITL 19.60T SLOEITLITL 60L& SHITE00TS.
A line makes positive intercepts on coordinate axes whose sum is 7 and it
passes through (—3,8). Find its equation.

The horizontal distance between two buildings is 140m. The angle of
depression of the top of the first building when seen from the top of the second building
is 30°. If the height of the first building is 60 m, find the height of the second building.

@retorhy HLLLMSEHHG BenL Gyt HemLdl L g egmemnedey 140 15.
@netorLmeug HLULLGSle0r 2 _FSuledlmha (LS SLLLSH 60T 2 _5HHE 2_6Ten Em&H&HsEaHMeoid
30Y &y@ib. (waed sLLLSHer 2 wmb 60 5 erenflledd @netorimeug sLLLSH T 2 WITSHDHEH
snesors. (\3 =1.732)

An aeroplane at an altitude of 1800 m finds that two boats are sailing towards it in
the same direction. The angles of depression of the boats as observed from the
aeroplane are 60° and 30° respectively. Find the distance between the two boats.
(V3 =1.732)

1800 15 2&_wr5Hled upsHESLD e allonersledlmha @CT Slemsuied allonersHems CrrsHls
Q1F6DEYID E(H UL GSH6T LUMTSSLILIGbLADE. efiionerssledmng & UL Gsemer (penmGuw 60°
wpnio 30° @psssGaneumseafldd 2 pmn Crrsderms, Breiorh ULGHEHHGSD
BewL UL L & OFHTEmEDemEUH SHITEOUTSH. (\/; =1.732)
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A bag contains 5 red balls, 6 white balls, 7 green balls, 8 black balls. One ball is drawn
at random from the bag. Find the probability that the ball drawn is

(i) white (ii) black or red

(iii) not white (iv) neither white nor black

6 smuulled 5 feuliy HImL LK SIS EBLD, 6 QeuesTemarT HIDLI LIhF18EbID, 7 L&em s HImUILIM SIS @D
8 &@mUy BIDUUhgISEHLD 2 etener. goeumiliy penpuled snuwiedlGhs Qb UbS
T(b&BLILGLIADE. SHsL Uhg (i) eeudrensr (ii) &by Seeg Heuln (iii) CleueTemenLITS
&6beomoeDd (iv) e1eueTemeETIINSELD, HHLILITSEYLD EeDedmoed SBLILSH HT6UT 15608 H6YHemers
HITEO0T 5.

In a class of 50 students, 28 opted for NCC, 30 opted for NSS and 18 opted
both NCC and NSS. One of the students is selected at random. Find the probability that

(i) The student opted for NCC but not NSS.
(ii) The student opted for NSS but not NCC.
(iii) The student opted for exactly one of them.

50 wresoeuismeT 2 eten @b eu@Llled, 28 Guy NCC-ufgubd, 30 Gur
NSS-quo wpmip 18 Gui NCC wpmip NSS-qub Cednniser. 6b Lomsvoreu] &loeumiiili
wempuled CoameIsheaLILbLADMT. Sieul
(i) NCC -ulled @wmibgl, apeormed NSS—-6d @edeomosd
(ii) NSS -6 @mba), apeormed NCC-uled Sedeomoed
(iii) eeoT@m eeimiied WL b Caimngl SEULSDHSTEN FSL0SH6,HEWETSH HTITE.

A cylindrical glass with diameter 20 cm has water to a height of 9 cm. A small
cylindrical metal of radius 5 cm and height 4 cm is immersed completely. Calculate
the raise of the water in the glass?

efl’L1b 20 Q1&.15 2_eiter QT 2 ([HEMET 611q 6ué SH650TE00TNIG6 G6euemenuiled 9 61515 2 wWTHS DG
b o eengyl. @ymb 5 6&.L5 whHmd 2 wimb 4 6&5 2 ewLw F Arlw 2 Geonse 2 (Hewar,
Bifled (pgemwwns ewpG&EUTg ebLbd Bl 2 wifeneus Heorebdbhs.

Arul has to make arrangements for the accommodation of 150 persons
for his family function. For this purpose, he plans to build a tent which is in the shape of
cylinder surmounted by a cone. Each person occupies 4 sq. m of the space on ground and
40 cu. meter of air to breathe. What should be the height of the conical part of the tent if
the height of cylindrical part is 8 m?

Sime Heotsl Gobbou eflpredlhe 150 FUTHET SRIGEUSDE QUH FnLID
SIMWSHADNT. Fr LTSI SqliuGS 2 mewer eugedlgt GuopuGsl sibl eulgellayd 2 ererg).
Qe ShGsDHES 4 & 15 suniugd uriyb 40 &. 15 srpnib CsemeuliLbADs). snLrrsHdle
o (mememuiledT 2 wimib S 1S ereufled, Fnlbllledr & wiTid HMetors.
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It X=1{-5,1,3,4} and Y = {a,b,c}, then which of the following relations are
functions from Xto Y'¢

X = {-5,1,3,4} wpmib Y = {a,b,c} erevfled, X-ellphg Y-&& Letrensid
2_peysefled eremeu smyun@d? (i) R, = {(-5,a), (1,a), (3,b)}

(11) R2 = {(_516)3 (1>b)> (33‘2))(4’0)} (HAI) R3 = {(—5,&’-), (laa')> (B:b)a(4>0)>(1’b)}

A function f is defined by f(z) =22 -3

() find W+
=AY

(ii) find x such that f(z) = 0.
(iii) find z such that f(z) = z.
(iv) find z such that f(z) = f(1— ).

Q@ MY [ Speordl f(1) =22 — 3 eTedr euenIWIM|SESLILILLTED

(i) f(_“):f(l)
(ii) f(x) = 0 erevfled, + & SMetUTS.

-85 HIT6O0TS.

(iii) f(z) = z erevfled = @& HMevUTS.

(iv) f(z) = f(1 — x)erevfled = & SHMetora.

If f:R— R and g: R — Rare defined by f(z) = 2° and g(x)= x"then check if f, g
are one-one and f o gis one-one?

fAR—=R wppw g¢g:R—R aperg  weopGuw, f(z) =1°, gla) =2* ereor
QUEDTIWMNISSLLLLTED, f, ¢ SHPenel QOTNIHES QETDTETST WOHMID fog QTNIHS
6E0TDITEUT SMITLIMGLON 6T60TM) SHITMILIS.
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If I", m™ and n™ terms of an A.P. are z, y, = respectively, then show that

(i) z(m—n)+yn—0)+z(I—m)=0 (i) (z—y)n+y—2)+(z—x2)m=20

6 &L (b OFTLTeuflewsuiler [, m HMID 1 SpHeug 2 nilseT (penoEil

z, Yy LDE')QJL'D =z ereofled. LledTeu(peustTeuDemm Hlemiilas.

(i) z(m—n)+yn -0+ z(l—m)=0 (i) z—yn+wy—2)+(z—2)m=0

GraneiLid 10 6515, 11 asib, 12 ag15, ..., 24 6815 eTedim LSS dieTeyaten 15 F&HIT 6Ig 6)
6U6TUTE0UTS: SHMEFHIGET 2 _6Teneol. Ehg eUeTUTeU0EH SHNHFHHRIHEMETS CIHME00T(H ETEUEIETEY
UTLIemL SiemL 5G| Sie0kI&Ifl&HeS (LpLgujb?

Rekha has 15 square colour papers of sizes 10 cm, 11 cm, 12 cm

o> 24 cm. How much
area can be decorated with these colour papers?

162> — 22 —3 82" +1lz +3
Simplify &me&&s 322 -2z -1 322 —1lz—4

Find the square root of eui&&eweod Hnevors.

(42" — 9z +2) (72" — 13z —2) (282 — 3z —1)

) . 13 .
If a, B are the roots of 72" + ar + 2 = 0 and if § — o = —— . Find the values of a.
‘,

« - b
. ~ 2 c .. r —13 . .
a, P eredtuest Tu” +ax + 2 =0 —uledr epeoruser WHMID [F— o = —— erevfled, a-ulledr
-
&S SMeoors.
4 3 1 2 3 8 3 4
IfA=|(2 3 -8,B=|1 9 2| and C=|1 -2 3| then verify that

1 0 —4 -7 1 -1 2 4 -1
A4(B+C)=(A+B)+C.
43 1 2 3 4 8 3 4
A=|2 3 —8,B=|1 9 2| wpmd C=|1 -2 3 | e,
10 —4 -7 1 -1 2 4 -1

A+ (B+C)=(A+ B) + C erettuemsd sfluniss.
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In the adjacent figure, ABC is a right angled triangle with right
angle at Band points D, E'trisect BC. Prove that SAE* = 3AC* + 5AD?

- B D EF C
uLsdled, asmGaneror (WsGasnevono ABC-uled Gemevond B Sheor&l
esmGanend womw D, F eeorp UeTefleder ussd BC-g epsitm)
souGHaemna 1NflsHng) ereofled, SAE* = 3AC° + 5AD° ereor 5lmI6Y5.

Tr+3y=10, br—4y=1 &pFw CrisCanbser shIHloHEw Letefl  aublwnsey,
13z + 5y +12=0 eretim CrIsCaM_IGNEG Genevonunseyd Siemwown CrIsGasmig et
FLOEOTUIM_6ML_& SHIT600T 5.
Find the equation of a straight line through the intersection of lines 7z + 3y = 10,
5z — 4y =1 and parallel to the line 13z + 5y +12 =0

From the top of a tree of height 13 m the angle of elevation and depression of the top
and bottom of another tree are 45° and 30° respectively. Find the height of the
second tree. (\/5 =1.732)

1316 2 wimpeier @b wrsHlen 2 &Huledibhg LHODNEH WISt 2 &6 wHmIb Siquiledr
amm&GEanevond wHmId nésesGamevond (wennGuw 45Y wpmib 30 erefled, @etor_meug
DT HH 60T ©_ T HemSHSH SHTe00TS. (\/; =1.732)

A pole 5 m high is fixed on the top of a tower. The angle of elevation of
the top of the pole observed from a point ‘A’ on the ground is 60° and the angle of
depression to the point ‘A’ from the top of the tower is 45°. Find the height of the
tower. (\6 =1.732)

em Camyr o &uler 5 5 1B 2 wimpster sbUD OUTBHSEH emeuébsasL
U etengl. sewguied o etemr ‘A’ eretim  yenefluledlpha swusSler o Fdemw  60°
apn&Cancusdlaun, GasmyrsdHlear o sfulelmhar A’ eeim yetaflemw 45° @péEsd
Gamevusled LT 53Me, BaHMUT S 2 WTSHemHSH SHT6turs. (\/; =1.732)

A toy is in the shape of a cylinder surmounted by a
hemisphere. The height of the toy is 25 cm. Find the total surface

area of the toy if its common diameter is 12 cm.

@ 2 mewenuietr 165 @ SiewI&HGsnend SenevuhSeUTT) £ 6Tem 6
euMbemwouledr wmss 2 wmb 25 &5 Sp@&Wb. SiGeor efi LD 12 Qg5 eresfled, OUMDemLOUN6DT

QLTSS YDLUILTLIEmLUS SHIT600Ts.
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A solid iron cylinder has total surface area of 1848 sq.cm. Its curved surface area is
five — sixth of its total surface area. Find the radius and height of the iron cylinder.
& Hlevoro BapLoY 2_Bememuiedr auomdsL Ypliugliy 1848 & 6156 CLID Si560T euememuTLiL,
QOMSHL LUoUUTLLTed Shriled gl UrRsm@D ereufled, @by 2 (Hewemuiedt Sy WHmID
2 WD &ITEv0TeYLD.

Marks of the students in a particular subject of a class are given below.
Find its standard deviation.

0-10  10-20  20-30  30-40  40-50  50-60  60-70
Number of students 8 12 17 14 9 7 4

A flower is selected at random from a basket containing 80 yellow, 70 red
and 50 white flowers. Find the probability of selecting a yellow or red flower?

Qb FnemLullgierer 80 EhFeT, 70
dleully wpmib 50 eeueTemenL I &Ha&efledlbhe o0 e
wempuiled @ 1, CalbagbeaslLbD Gung SiF LEhseT
sievengy fauliy BimL L,euns Bmés Hlepsse) eTeiter?

If A, B, C'are any three events such that probability of Bis twice as that of probability

of A and probability of Cis thrice as that of probability of A and if P(AN B) = 1',

6
1

(0
P(Bﬂ(_.f]:%, P(Am(_,f)zé, P(AUBL_J(_.?):l'—:), P(AnBNC)=—, then find

g |

.

P(A),P(B) and P(C)?

A, B, O eetiuent a@senid eweorm) Blspsdser. Guab B SenLliushaner Hlospssey
A -eor Hlaspssemeut Gured @LLRsT&EeD, O HenLlugnasner Hspsse] A-g@ efll

cedTm)| WL MksT&He|D 2 ererer. Goeud P(AN B) = é, P(BNC)= i , P(ANC) = % ,
P(AUBUC) = 1% ,P(ANBNC)= li sreoflés, P(A),P(B) wpmip P(C) -mé snedores?
5
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SUCCESS SERIES -7 FIVE MARKS

@@ euliquiled 3, 5, 7, 9, ... 35, 37 eledID eT6t0IBET GUISSILLL EL(hSHET O_6T6TeUT.
SFLoEUMLILIL (emDUIeD 6T(b&SSLILIBLD QB EL.(b SHeuTEI T -60T LOLTRISHTES SIEDEDE) LIS 6T650T600TTS
BmliusD&TeT P55 6meUs SHT600TS.

A box contains cards numbered 3, 5, 7, 9, ... 35, 37. A card is drawn at random
from the box. Find the probability that the drawn card have either multiples of 7 or

a prime number.

A metallic sphere of radius 16 cm is melted and recast into small spheres
each of radius 2 cm. How many small spheres can be obtained?

16 61e.15 gympsier F & Geonall LbE), 2 (HHsIUL(H 2 A5 SyT(peTer fmy
Uh SISHETTSHSLILILLITED, 6T HEHEWEDT LihFHIHET SlemL S EL0?

The internal and external diameters of a hollow hemispherical vessel are 20 cm and

28 cm respectively. Find the cost to paint the vessel all over
at ¥ 0.14 per cm?.

o eefLOm @F SenIHGaHTen eugeus HevorevtiHHNES QIO FHT 616.5-5H@ 6UT6U0ID L&
¥ 0.14 efigp QseveuT@D. SiFedT 2 Luyp LOHMID Eeusfliyn

el Liuser (pempBuw 20 a&.15 wHmib 28 6&.5 ereofled, SiHement

(LO(LREMIDILIMG GUT6VUTLD L} F 6TEU6U6TE)Y E1F6D6UTGHLD?

l1+siné 1 —sind
+ s1n X S1n

. . = 2secf
Prove Blemlilsseyn. \ 1 — sinf 1 +sinf

Find the sum of the series (2° —1*) + (4* — 3°) + (6° — 5°) + --
(i) nterms (ii) 8 terms

- to

2° —1°) + (4° = 3°) + (6° —5°) + --- er6dID QBMLIT6urflemEuledn
(1) n 2_muiyser euemr (ii) 8 2_MINISHET 6UEDIT Fn(bSHED SHITCTOTS.

Find the middle term(s) of an A.P. 9, 15, 21, 27,...,183.

9, 15, 21, 27,...,183 ete0iD L (bs OSNLIT6UTlenEFUNET Hb 2_MILILSHEWETSH HTEO0TS.
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Find the values of z, yand 2 = » wHob = —wiesT WHIPLE Sresors.

r+y+ =z 9
T+ z =15
Y+ z i

I3

If the difference between a number and its reciprocal is —, find the number.

)

LY

6T 6T600T LODMLD HigH60T HemeSL spdSlweunmlesr g Swineid 6T60of 16D, Sihd 6T600T60I600TE

. b
HITE00T . '

>

Example 4.9 Two poles of height ‘@ metres
and & metres are “p’ metres apart. Prove that
the height of the point of intersection of the lines

joining the top of each pOIE} to the foot of the
opposite pole is given by _2”  metres.
a +— b

ST(LS HISSHML (b <+ .O Je LS LT S emL_creuafiuilsn
a WlLgd whmpibo & Sloeo 2 uwiggpeTerT  &Emesordh
AITSOOTH ST D &STelTeDT. SMITesorSsaerfledr =2  SHFluledlunih &l
erHlEoTujeTarT SHITeouT HerfledT SO S S eTD T UILILICHLD
EHBMbSHBETT =FIh 5l SH&SH LD LeirerfludleoT S U ITLOIMTEDT &)

cr by

———— BT eTedTuesmsS [HlebLildsserln.
a —+— b

A circle is inscribed in A ABC' having sides 8 cm,

10 cm and 12 cm as shown in figure,
Find AD, BE and CF.

A 12cm B
UL SHled smilquieterulg, 8 aFiS, 10 sl wpmib 12 as.is
LUSHHMRISET £ 6L LI wWwsGBmsmevorsHlemieT 6aH UL L LD

SiemwbGleneng) ereofled, A D, BE wopmib CF' g2&% &SMetoTs.

Find the equation of a straight line through the intersection of lines bz — 6y = 2,
3z + 2y = 10 and perpendicular to the line 4z — 7y +13 =0

Sr—6y =2, 3z+2y=10 s CorsGanpser &hHleHG0 ystafl  eublumseyd
dr —Ty+13 =0 eretim CrI&CHMKYHGE CFHIGIITHAD Siemww)d CrIeEGsm igeir
FLOGITUML 6WL_& HITCH0TS.
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A=1{3,47,8} womo B=1{1,7,10} ereuflled Eip £ efem sevrhismerled 6Temeu
A-eblphal B-5& 24601 £ nemeud GMbEemms)?
(i) R, ={(3,7), (47), (7,10), (8, 1)} (ii) R,={(3,1), (4,12)}
(iii) Ry={(3,7), (4,10),(7,7), (7,8), (8,11), (8,7), (8,10)}
Let A=1{3,4,7,8} and B={1,7,10}. Which of the following sets are relations
from A to B?
(i) R ={3,7), (4,7), (7,10), (8,1)} (i) R,={(3,1), (4,12)}
(iii) Ry={(3,7), (4,10), (7,7), (7.8), (8,11), (8,7), (8,10)}

The sum of first n, 2n and 3n terms of an A.P. are 5, 5,and S, respectively.
Prove that S, = 3(5, — 5)).
S, S, wpmib S, eredtuent (WempGIW QB Fnl b aSTLTeufleneuler
WPHed 1, 2n HMID 31 2_MIIYSETIET FnbHed SHBD. S, = (5, — 5,) ererr Hmeys.

A man repays a loan of ¥65,000 by paying ¥400 in the first month and then increasing
the payment by 2300 every month. How long will it take for him to clear the loan?

el smeot eupm 65,000 sLement HEBLULE Q5SS (L&D s 400 asISHISDT.
SipeT D@ @eNaeun(h MG (Whemswl sh asssluengaill I300 &mpseonss
OFSHHDNT. Sieu] BHSH HLEWET SeML&HS eTeUeleTeY SMeold EHemeuliLi(bld?

A company has four categories of employees given by Assistants (A), Clerks (C),
Managers (A/) and an Executive Officer (E). The company provide 210,000,
325,000,350,000 and X1,00,000 as salaries to the people who work in the categories

A, C, Mand Erespectively. If A, A,, A;, A, and A_ were Assistants; C'|, C,, Cj,
C, were Clerks; M, M,, M, were managers and FE,, E, were Executive officers
and if the relation R is defined by zRy, where x is the salary given to person v,
express the relation R through an ordered pair and an arrow diagram.

@ Hneuesdledr o sellwmeniser (A) erwpssiser( (), Guoeomengser () whmib
Bireundser (L) apd mpreorg Wifleysefled ussoflnengser 2 erereory. A, ¢, M wpmib £
Wifley uesofliuTenT &HEHHG 2erdluihiser WemmGuw 10,000, T25,000, T50,000 wHmib
X1,00,000 gpo. A, A, A, A, wpmid A, 4HCwnT 2 _sellwnengser. O, C,, C,, C,
SpACwInT erpsHsreer. M, M,, M, gyfHGuniser Gueoneriser. opmio F|, £, ayfGuwing
Bifeunélsar @yeur. Ry etedim 2 _mefled x eTedTug Y eTeiTLOUHSHEHS O1SMbESLILL L DerHluib
ereufled R—etedTn 2 _memey, euflemssd BEMa&H6T CLOIWMSHED SDLSESGM UL CLOEDLOMTSHEYLD

GSMIL (b .
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You are downloading a song. The percent y (in decimal form) of mega bytes
remaining to get downloaded in x seconds is given by y = —0.1z + 1.

(i) find the total MB of the song.

(ii) after how many seconds will 75% of the song gets downloaded?
(iii) after how many seconds the song will be downloaded completely?
Braset @@ urLemeoll udlalpssid asluwbCung, = eflemmasEpsel DG uSlefnssb
aFwBeustonguwr Wsueitemr LMLE0leT #6850 (Gsm smUlIqEd) y—Syeral (HFDSHIE)
y = —0.1le + 1 eTedrn FLOOTUMLIq60T ELOEDLD GHMi&HSSLIILL LMD,

(i) urmLedledr euonss N B Swememeuds SHTeouTsH.

(ii) 75% um_eweols uHleNDEHSID OFILIL eTeucueTey SIEDTITG HET 24 &L ?
(iii) ersmement elevTmaHeT SHWISHIT LIML6D (Wp(gemwwmsl uSHlefDsSsd aFinliLbD?

A garden measuring 12m by 16m is to have a pedestrian pathway that is “w’ meters
wide installed all the way around so that it increases the total area to 285 m2. What
is the width of the pathway?

12 15 x 1615 oiemeyseT CISMeUIL Q@B 61Feleus auqelll Iasnemeus &HI ‘w’ BT
SIBED(LPETENT HEMLLTENS Sien&aLILGLEUNG, SiH60T awngsl ugiy 285 g WBLLIms
2115 flaHDgI. HewLUTEnSWIET SHDSHWHSH HEVUTHS! (b5

QUDILIOLICTUTS 6WET COBIRISETTSS QsTeooTL 31° + ki + 81 = (0 eredip SwETUM LT (b
CLOEDLD LOMEMT(H cLPE0 ST 6UTHSBLD eTeufled, k—udledr HIILS SMevors.

If one root of the equation 3z° + kr + 81 = 0 (having real roots) is the square of the
other then find .

6 Fnl(bS OSTLTeuflemsuledt eTusmeug 2 miledr QeOTLS) L hIGLD. LSl eneTheHTeus
2 _minfletr USleweThE WOLMIGD &oD erefled Buibd HTaTHMEUSH 2 MIOTeT SHm)
LOL MIGITE0T &) I FEULILD eTevT [Flmi6ys.

If nine times ninth term is equal to the fifteen times fifteenth term, show that six
times twenty fourth term is zero.

The distance S an object travels under the influence of gravity in time ¢ seconds is
given by S(t) = ;gr‘g + at + b where, (g is the acceleration due to gravity), a, b are
constants. Verify wheather the function S()is one-one or not.

yeluiiiy elewmsulledt snrevonons ¢t eNleommasserfled 6B GLNIHET SHLSESWD SHMILOTEOTS]

S(t) :%gr‘i +al +b eTevid QBMBLSHULL (beTeng. @@ ¢, b Spdlwemen Lommledlserr

(g et yeuIiiy elemsulledr &MTE0ONONS eNDLGbLD (L(b&SD). S(1) SHE0TS 6260TMISE1STEOTDITE0T

SMTLIMGLOM 6T60T SITIMILIS.
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Given the function f:x — x° — 5ax + 6, evaluate
(i) F(—1) (ii) f(2a)
(iii) £ (2) Gv) f(= —1)

QBMLSSHILLL &ML f:2 — =" — Hx + 6, erevfled,

D) f(=1) () fRa) (i) £2) (i) f(z—1) duapaop wdiles.

fog=go f erevfled k-ulledr WOSHlemLIS SHTeCOTS.
Find the value of &, such that fog=go f

(i) f(x)=3x+ 2, g(z)=6x —k (ii)

Find the variance and standard deviation of the wages of 9 workers given below:
310, 3290, 320, X280, I300, 3290, 3320, T310, T280.
10 2emduwiiserfler 2erdluib G OBMbSHSBLILL (heTengl. 2eorFliirisefleor 68le0&a eul&HaHd
sgnsfl OO S L 0SS HMevUTs.
3310, 3290, ¥320, ¥280, I300, 3290, ¥320, X310, I280.

RUHMHSE OlITenT @UUBSHD SHewLUIUSDSTET HlHD5HH6) % OMID  GLOMILISET
AUNTHSHIEUSHHTET QLILIHSLD HewL &H&HMD6d SHLLSDSTET HlHDSHE6)] g H@W. Goeib
SWDHSLULED gHmeugl QU QUUHSD HewL HHELUELMEUSDSTET HlHDsH5H6) %GI’GOﬂQ'.),
@ etor(p QUUHSMRISEBLD HemLLILGHSTET [HloHL0SHSHE)Y 6Te0T60r?

The probability that a person will get an electrification contract is ; and the
= +)
probability that he will not get plumbing contract is gj . The probability of getting

atleast one contract is :) . What is the probability that he will get both?
7

20" — 7o +5 =0 eTedD FOGITUML LG 60T ELPEDMISBET O wHmID [ erefled, LetTeuBeu6dTEUDIEOT
wHlyHenend snetors. [(GUILY: Hiey GoHemeuudedemen]

The roots of the equation 22° — 7z + 5 = 0 are a and B. Without solving for the roots,
find

o1 1 .o 3 . x+2 3 +2
W 5 i o+ R S
M.A.SENTHIL KUMARAN VMGHS$S$-PKM-THENI
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Find the values of m and n if the following polynomials are perfect sqaures
Slpssnamibd LOIMILL&EEHTEneus6T (P(EUTSeMmSeT eTeofled, m WwHMID 7 —uledr Sl

HITEO0TS.

(i) 362" —602* + 612> —mx +n (ii) z* — 8«* + ma* + nx + 16

The perpendicular PS on the base QR of a APQR intersects QR at S, such that
@S = 3 SR. Prove that 2PQ’ = 2PR’ + QR’
APQR -uled o1q1usH0 QR-5@ 05hGSITS 2_6Tem PS apeorg QR-g S -ulled shl&Hn .

Gueib, QS=3SR ereofled, 2PQ* = 2PR* + QR’ ereor Hlmieys.
—3) wbmd (4,—7)

Wsnasren Gahnsemsl LWeTLbSSMo, (1, —4), (2,
6T60TM (LPemEDTLI LieTerflE6T 6(H Q& TRIGEH 600 (Lp&EHTETTTHEmS HEWMDSHESID 6T60TSH HITL (b
Without using Pythagoras theorem, show that the points (1,—4), (2,—3)

and (4, 7) form a right angled triangle.

The hypotenuse of a right angled triangle is 25 cm and its perimeter 56 cm. Find

the length of the smallest side.
(6 61&RIGaTeuur (p&Baneurd e sieuurd 25 6F L5 HMID SiHeiT &HmeTey H6 618.15 erevfled,

(WwaCameong et AN L&HSHSHH 60T SieTemeUsH HTETUTS.

| bz
|bo

LX)

(i) If sinf + cosd = p and sec 8 + cosec § = g, then prove that ¢(p* —1) =2p

[t}

(ii) If cot@ + tan® = z and sec® — cos@ = y, then prove that (z%y)? — (zy*)3 =1
(i) sinf+cos@=p wHmb secl + cosecd =g erafled, ¢(p° —1)=2p eTeTLDS
FlepLiS&aD.

cotf +tanf =z wHMID secd —cosf =y erefled, (z’y)

| bo
| b2

w

=1 eTaTUEmS

w

(ii) —(ay’)

HlepUl&s&seywD.
From the top of a 12 m high building, the angle of elevation of the top of
a cable tower is 60° and the angle of depression of its foot is 30°. Determine the height of

the tower.
12 6 2 _wimperer sligL SHler 2 sfuledl mhe Weranmd CGamyr o &duler

anm&Ganewnd 60° HMID SiHeT SiquilerT @nésssGanevumd 30° eresfled, lstTemné GCamy sHSleor

2 _WLITHNSHSH HTE00TSH
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A vessel is in the form of a hemiépherical bowl mounted by a hollow cylinder. The
diameter is 14 cm and the height of the vessel is 13 cm. Find the capacity of the vessel.

i oemrsCanersHler Ged f 2 araiLhn 2 [HeweTenwill AUMGBSSIL 6llq euSHSHled
SieDWHS Qb HetoreonisdHlenr el b 14 @55 whHmidb 2 wmb 13 6515 erefled, SiHedr
OIS TETEMETEmEUSH HTEOTE.

A solid right circular cone of diameter 14 cm and height 8 cm is melted to form a hollow
sphere. If the external diameter of the sphere is 10 cm, find the internal diameter.

afll b 14 e&15, 2 wimb 8 61515 2 emLwi 66 SHlevono Chieu L & snibly, 6iF 2 etaflpm Gememons
®_monHolLbEng. Carerssler aevaflefi’Lid 10 ag.15 erefled, 2_eefl’ L SHensd Setors.

A wpmib B gpdlweneu e sweumiiiy Gsnseneruier resort Hlespsdlser ereufld
(i) P(ANB) = P(A wlwb) = P(A)— P(AN B)
(ii) P(ANB) = P(B wieb)= P(B)— P(ANB) eer fimeys.

If A and B are two events associated with a random experiment, then prove that
(i) P(ANB) = P(only A) = P(A)— P(ANB)
(ii) P(AN B) = P(only B)= P(B)— P(ANB)

In AABC,if DE||BC, AD =z, DB=xz—-2 AE=x+2and FC =z -1
then find the lengths of the sides ABand AC.

AABC -\ DE | BC, AD=x, DB=x2-2 AE=u1+2 LOHMILD
EC =1 —1 erevfled, ussmiser AB wpmid AC -uller Berhisenensd sresurs.

A metallic sphere of radius 16 cm is melted and recast into small spheres
each of radius 2 cm. How many small spheres can be obtained?

16 61515 gympser @ 2 Geonsll b, 2 [(BesILL (L 2 Q&5 gyTpsTer fAm)
U SIS6MTMSSLILLLTED, 6T5H56me0T Lh&IS6T SlemL&@SL0?

A cylindrical drum has a height of 20 cm and base radius of 14 cm. Find its
curved surface area and the total surface area.
7 @ 2 mewer eugeus Siumuiesr 2 wimb 20 @& wHMID SugliyD SHTD
14 e15.15 erevfled, S1560T 6uemeTLITLILY LOHMID EOTSSLI LIDUILITLIENLIS &HT600TE.
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